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Attempt this Paper on this Question Sheeg onl! \

Please encircle the correct option. Division of ma en in f h question. “\_

This Paper will be collected back after expiry of time limit menﬁoned above. “

Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

1. Election of the board of directors is done by shareholders; _

aj Through special resolution (c) in special mcetirg

b) In annual general meeting (d) in statutory meetmg

2. Among different managerial styles, which of the fcf!owmg aliows most rap[d
decision making? : - :

a) Autocratic (c) free reign

£) Democratic (d) None of these;
3. includes the rules and regulations necessary to manage the . sy
inte nal affairs of the company.

a) Memorandum of Association (c) Prospectus

b) Articles of association - - ~(d) All of above !
4. A set of marketing tools-product, price, place and promotion is known as ',
a) Marketing Mix (c) Both A&B

b) Market segmentation (d) None of above

5. Motorcycle and car are different pnoducts but both fulfill the need for
transport is an example of; 4

(a) Brand competition ~ (c) market competlt_;on

(b) substitute product competition (d) Nong of the above '
6. Portion of the undistributed profit transferred to which of the following? *
(a) General reserves : (c) appropriation account
(b) Retained earnings (d) all of the above

7. A joint stock company may be wound up voluntarily in which of the g
following ways;
a) Fails to submit statutory report . - (c) expiry of period
. b) Fails to start business within one year of incorporation (d) all of Above,
8. A certificate of ownershlp of a business is a;

a) Bond . (c) contract
b) Mutual fund (d) stock
9. Products purchased by companies to produce other products;
a) Consumer goods ' (c) service -
b) Industrial goods o (d) mventory
10.Which of the following is a disadvantage of partnership?
(a) Distribution of work , (c) profit sharing

(b) Sufficient capital - (d) limited liability -
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